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...1 -o) -^, -.^^---^,-: : i :i-. Explain"in.detail about..the..role of lexieal,,analyzer with."thc possible error.*recovery .....;....:.:. .,.., :.:' .. -",.. i,i, 1...1 :,,"" , *., ;.., ,.,, :,... ' ; 
","; i""..:." .;..,":', aCtlOnS.....; j", :","::^." ;.,.:i',, 1.".:i'.. ;.,,:i'., ;,.,;:",,,

b) Show how lexical analyzer is constructed using LEX? Write a LEX program for token
recognizer. [8+7]

') (-^^.+rtr^+ +L^ ^-^.trl^r:.,^ -^-^^- +^Lt^ f^-- rI-^ f-It---:L. Construct the predictive parser table for the following grammar. And parse the string

',;' : :i" ;:3t% i ;;,' i', ii,i' ;::;;ir;,: ;'";it:i:, , .:i , i :: ,

C->cC ld

3. Construct an LALR Parsing table for the following grafirmar:

4.a) What is a three address code? Mention its types. How would you implement the three
address statements? Explain with examples?

b) write the syntax-directed definition for if-else statement. t8+71

',":' i.';.";5i:,'' Give ari'exarirples to expialii,irle storage aitdeAtion for array,istiings and re;diAd. t15l :"""..t i'""':

6. Generate DAG representation of the following code and list out the applications of
DAG representation:
i= I ; s=0;

",... :.... while(i<=l0) .....,.... ..... i.... ".... i.... ..*.. ..... "....:..."''.'. i-"i i'':' s=s+a[il[ili.,:. ;"...i i",i. :...-i i.'i. r.".".i :.,:'. ;.....i i.,:'. :."..., i.,:'.

i=i+l

7. optimize the following code using various optimization technique:

llsl

i=1; s=0;

"., :.".; i."": for (i=L;.k=]; i++) ;...; i.."; :.".: i."": .,-".: i""": ;...: i...; t..., 1.."t:.. ;-"'r i ;.. for (=1:;j.<l3j++) i.'"".: l'x'." r"^"r i';1. i.".'.t i"1'.. ,"', :"'; ;.".'., i',':

c[i]Ul=sJi1[i] + atiltjl + bli]tjl tlsl

8.a) Explain the various issues in the design of code generation.
b) Explain code generation phase with simple code generation algorithm. [5+10]
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